SUMMATIVE ASSESSMENT - 11, 2012

Hanferd adter - II, 2012 S5-2030
SOCIAL SCIENCE / amtfsieh faam™
Class - X/ el - X
Time allowed : 3 hours Maximum Marks : 80
freifa ww : 3 gue SrfereRan 37k : 80

General Instructions :

(i)
(i)
(i)

(iv)

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 16 are Multiple Choice Questions. Each question
carries one mark.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these
questions should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question
number 36 is a map question of 3 marks from Geography only. After completion,

attach both the maps inside your answer book.

e 3T

(vi)

T U U H 5 36 TR © | Tk U 3ifard T

T T % M 3HF 31k ford gu

T ShHih 1 H 16 T Sgfashedid U9 & | T W 1 3ieh H1 7|

Y Uik 17 ¥ 29 T YAk WA 3 ek 1 &1 TTH T YA Y9 1 TR 80 IIeal ¥ 31fereh =& gl
Bl

T¥T A% 30 T 34 Tk Tceh U 4 37ek 1 8| TTH ° YT U I SN 120 el & Aok T
g1 =feu |

U A 35 had sfaa™ 9 AE{EE TRt 2 3 UL § SR U HHiE 36 had i d
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1A.

1B.

2A.

2B.

The Habsburg empire ruled over the area of

(@)  Austria - Hungary (b) Dutch Republic
(c)  Germany (d) Sweden.
ToERT HH 1 TR &S R I e ?
(@) AT (b) 39 TR
(c) T (d  wied
OR 7/ 3AYaT
The communist Party of Vietham was formed by
(@)  Phan Boi Chau (b) Ho Chi Minh
()  Bao Dai (d) Sun - Yat - Sen.
foaam it SRR et @1 e fhRu foram o ?
@) HH-IE-TTH (b) B A=
(c) =l (d) T AE-E
Name the battle which Napoleon lost in 1813 :
(@) Milan (b) Victoria () Warsaw (d) Leipzig.
1813 ® -difea fohd g H 81 T o1 2
(@)  faom (b)  ferrife (c)  IwrE (d) o
OR/3AYUAT
Who formed the Revolutionary Society in Vietnam in 1903 ?
(@)  Prince Cuong De (b) Phan Chu Trinh.
() Phan Boi Chau (d) Ho Chi Minh.
1903 # Rt et o1 e fora foranm o ?
(@) fEwm< (b) EA-S e
€  EHA-IE-T @ E-=i-fre
Which Congress session adopted the declaration of Purna Swaraj ?
(@) Nagpur (b) Lahore (c) Calcutta (d) Madras.
KU o TohE Ao gl SRSl i SN i T8 ?
(@ T (b) TR () e (d) A=

Under whose leadership was the Non Cooperation Movement started in the Gudem
Hills of Andhra Pradesh ?

(@) C.R. Das (b) Gandhiji.
() Subhas Chandra Bose (d) Alluri Sitaram Raju.
Y YT i T[SH Yeifedl § fha & Agc | STHeanT sT<io IE goTl o1 ?
(a)  H. AN T (b) e S
() |99 I= 99 (d) 3Tl Hiar T T
Geothermal energy is produced in

(@)  Sikkim (b) Uttarkhand.

() Himachal Pradesh (d) Mizoram.

IR B AT So1t el Scq Bt § 2
@  faferd (b) SHETS
(©  feArd® ww d)  frsirm
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10.

11.

Koderma, in Jharkhand is the leading producer of which one of the following
minerals ?

(@)  bauxite (b) mica (c)  ironore (d)  copper.
ARGvE H e Frfetad § 3 feg wf= &1 &1 s 2
(a) ST (b) HEH () VRIS (d) d
Name the industry classified on the basis of capital investment
(@) Joint sector (b) Private sector
() Large scale (d) Public sector
frfelaa & & ®F @1 e &9 s & SATHR W i § ?
(@) T & (b) sl &k
() I M (d) HTESITR &
The National Waterways No. 1. is between
(@) Sadiya - Dhubri (b) Kottapurma - Komman.
() Hazira - Jagdishpur (d) Allahabad - Haldia.
TS ST ANt G 1 fha-feg & si= &2
(a)  WeET-HeRt (b)  FIETIH-FH

()  BSI-SHEIYL d) somwEETE-glead

The Narmada Bachao Andolan was a

(@) Single issue movement (b) Double issue movement
() Political Party (d) Trade Union

T s=el el frefoliad § O fhy YR o1 <o o1 ?

(a) T3S W hfwd (b) < HG WHhf=d

()  USHIfd® Ao d) TS

The roots of parties like the DMK and the AIADMK in Tamil Nadu can be traced to
the long drawn out reform movement during .

(a) 1920s-1940 s (b) 1930s - 1940 s

(c) 1920s-1930 s (d)  1940s-1950s

g A e A1 ST A€ A HeH Uliedl o1 Iqud & T T 90 UR
STRIe | WIS ST Hehell & | I8 STGIe hal aTl o1 ?

(@) 1920 % <h H 1940 % Wk ok

(b) 1930 % TIH ¥ 1940 & TIF TH

(c) 1920 h S H 1930 % T Tk

(d) 1940 % TIF ¥ 1950 F TUH qh

The United Kingdom is an example of

(@) Single party system. (b) Two Party system.
() Multi Party system. (d) A Coalition.
Efee fohren (Fove) o frafefiga & @ oF =t yoret €2

(a) T o FEE OIREEREES

(0 RO e (d) TS
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12. Which Challenge is faced by every democracy in One form or the other ?
(a) Foundational challenge
(b) Challenge of expansion
(c) Challenge of deepening of democracy
(d) None of the above.
Y B a4 I (Afeiad | fhg @ <A o1 g fondt 7 fordt €9 F & gear g 2

(@)  SFTETET SRR AT A (b) TR T TR
() Ok a5 Hed H &K A (d) S H | HE TR

13.  Itis an asset that the borrower owns and uses this as a guarantee to the lender until
the loan is repaid.

(@) Terms of credit (b) Double coincidence of wants

() Collateral (d) Debt - trap.

39 T 1 1 el ST ¢ Fo 0T O Aol vl Sl % U B9 A By S qoh TR
F®UH @A ?

(@) O H I (b)  STEEIRAST I G TART

(c)  RUMHER d) FS-E

14.  Why Cheap and affordable credit is crucial for the country’s development ?

(@) For increasing agricultural production.
(b) Setting up new industries.

(c) For trading in goods.

(

d) For all of the above.

<9 % faem & fou v o) ag+a o1 =i Teayo § ?

(@) FUSAGAR dGH* fer  (b) T3 3T wifud A  fou
(c)  TE3 o AR & fou d) ST gt * fou

15. Removing trade barriers or restrictions set by the government is known as
(@) Globalisation (b) Liberalisation
() Trade surplus (d) Foreign investment
YRR BN ST T STae T WG] %l B2 I A1 el S © ?
(@) At (b)  STRIH
() AR IR ) oz frew
16.  Which one of the following is not a Consumer Right ?
(@) Right to choose (b) Right to safety
() Right to property (d) Right to be informed.
frfofad § § w7 S« stiwr 7= 82
(@) T AR (b) ~ R&T H DR
(c)  Hwufd 1 3AfeRR d) I A A AER

17.A  How did the Balkan region become a source of Nationalist tension in Europe after 1871 ?

1871 % &G AT H Aok &5 foh T YehR TgaTR] a1el ol TId &7 7T 2

OR
17.B What were the differences of opinion between the two groups in Vietnam regarding
the introduction of French educational system ?

forrgam | widte Riaror seren on] fhu SIH o 9wy § <1 9@l o faamrl § = 3=
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18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

28.

29.

o2

Examine the events that led to the Civil Disobedience Movement. Why did the 2+1=3
industrialists support this movement ?

o TR ARG &l 3R S S TS SIS bl YI&T0l Shifsld | SENIad 3 39
AT ol TN i T ?

What is a mineral ? What is the need for conserving minerals ? 1+2=3

@St o1 BId1 § 2 @Sl o GL&T0T hi RIT STe9Tehdl & ?

How are integrated steel plants different from mini steel plants ? What are the 2+1=3
problems faced by this industry ?

Hohfod Wio H9 B Wi a7 ¥ g yar f9=1 €2 39 S & wma s gAifaar € 2

Explain the factors responsible for localisation of jute textile mills mainly on the 3
banks of the river Hugli.

A 3N il o gead: el e o TR sTafied 3 o fou ITErt SRl il e
HIFST |

How do pressure groups and movements exert influence on politics ? 3

TA19 HYE 3R STIed THIfd 1 foRg TR genfad € 2

How does a democracy produce an accountable responsive and legitimate 3
government ?

Bha= Hl Teoh S, STAEE 3T Y YR YSH HdT © ?

Are democracies based on political and economic equalities ? Explain. 1Y2+1%2=3

T B TSI SR A1ffer Tam W Sia Bid § 2 T shifsy |

What is a democratic reform ? Mention a few broad guidelines for devising political 1+2=3
reforms in India.

TTifaeh UR 1 87 9RA H USiifaeh GoRI 1 aliehl ged & fou o =amde e fu
1 IeT I |

Describe the factors which have enabled globalisation in India with examples. 1+1+1=3

IR0 € KT 37 HRh] I U ST T YR H STeIeRT0 shl T oM |

“The impact of Globalisation has not been uniform in India”. Explain this statement. 3

“ Ra B ATlRoT T YU THEY TRl g3’ 36 U i AT i |

Analyse with a suitable example the meaning of “The Right to Choose “provided 3
under the Consumer Protection Act.

Teh UK ISR h R SUHIKT Y&l Afuf=m s et<rid fqu 7T g4 o1 sifepr’ o1
forvemr it |

What are the factors that gave birth to the Consumer Movement in India ? Trace its 3
evolution.

J HH Y FHRb ¢ TS HRUT IRA H SUHIIT <A o 1 o1 ? 36k 39 i Iedie
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30A.

30B.

31.

32.

33.

34.

35.

FifT |

Ottovon Bismarck was the architect of ‘German unification”. Explain.

‘ 3TEE foeTeh STHAT o Teh{eh{0T okl STHeh A1’ $H heH ohi AT iU |
OR / e

Explain the four challenges faced by the ‘New Republic of Vietnam.
T I TORET &% WA i IR AT ! TI HiTT |

How did the Indians belonging to different communities, regions and languages
develop a sense of collective belongingness ?

fafir= e, & oiX vTmiel § Trary @ Ao IR F fohd TR T dnjfeh ST
&1 9 faenfad fean ?

Write a note on the changing nature of international trade in India in the last fifteen
years.

A Tg a9l H YR H TR TR & geodl Yehid W T Al fefay |

Write any four functions of Political Parties ?

qSHIfdes wifédl & g =9’ & fofgu |

Explain the differences between formal and informal sources of credit ?

U1 % 3Tqeniier TR ST Tl & &9 <R T Hifeg |

Two features A and B are marked in the given outline political map of India. Identify
these features with the help of the following information and write their correct
names on the lines marked in the map.

(A) The place where the Indian National Congress Session was held in 1929 ?

(B) The Satyagraha of the cotton mill workers was held here.

IRd & fou gu IeHifae aefas W A7 3R ‘B @ oum fafea fen gu €1 IR & T
SR & SMER W 37 G&I01 o1 98 Hifee 3R qefta | fafga @eil = 1% 9@
M fefaT |

(A) o I SRl 1929 ¥ Hig fuaeH gam o

(B) % TH Sl Gel el e &% Hsiedl 3 Teawre foRa o

OR 7/ 3AYaT
(1) Kheda : Peasant Satyagraha.
(i) Dandi : The Salt Satyagraha.
qie ;3 AHfas R fefelad 1 Suge dadl gr gwizd 3R 39 98t M fofau |
G @ e wemE
() == ERER IV
Note :The following questions are for the BLIND CANDIDATES Only, in

lieu of Q.No.35.
(35.1) Name the place where the Indian National congress session was held

in December 1929.

(35.2) Name the place where the Non Cooperation movement was called off.

e ;. ffofad 7o shaw giesnfum uwienfeft % fou ye FHiw 35 F TH WL
(35.1) U TIM o1 W Tosfaw sl fegwer 1929 & whifrg stferaer ger on?
(35.2) SH M o A1 fofET &l stHedn <o avw fear e o)

4x1=4

4x1=4

2+2=4
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36.

Three features A,B and C are marked in the given outline political map of India.
Identify these features with the help of the following information and write their
correct names on the lines marked in the map.

(A)  Iron ore mine

(B) Coal mine

(©)  Thermal Power Plant

9Rd & fqU gu Terifae Y@ gmfes WA’ ‘B’ 3R ‘C’ o o fafea feg gu €1 =
&t T ST o TR T $ehl Te= hifsq, qel A= 8 Tafed tensti w S w6 T4
fofE |

(A) ORISR GIH

(B) IS WSH

(©) A o wo

OR 7/ 3AYaT

Locate and label the following items on the same map with appropriate symbols.
(i) Rawat Bhata Nuclear Power plant.
(if) Silk industry in Jammu & Kashmir.
(iif)  Nedimbacherry international airport.
e : 3 AAfe W FrAfeiad o Suga dodl g wisd 3Tk 37 adt AW fofam)
(i) i el Ao forgd Has
(i) ST RRHER H ST AR = S
(i)  ATSATERY gaE T
Note : The following questions are for the BLIND CANDIDATES only in lieu of
Q.No..36
.1) Name the major seaport in Goa.

(36.1
(36.2) Name a nuclear power plant in Karnataka.
(36.3) Name an important silk industrial centre in Jammu and Kashmir.

e Ffetad wea Fao gl Wt & fou g9 Huiw 36 % o | 1
(36.1) T & H&A gl Yo 1 94 fefgw |

(36.2) ik o Teh Aok Il Ha 1 M Tl

(36.3) ST FIVHR W@ WH TN = 1 74 fofan |
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36.
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